RERRERFHFE=SITRAE @ HAESEE 130 HR

($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BIESS | ZHBRERAEE (1 Sv/h)
g NETES
No. | ThETH K4 INCETL B2 | soom | (h-amOFHE) =
m S0 %120
FEER RERR
50cm 0.08 0.08
808 | FEHEET EEgoR |REESLE 9A30H
1m 0.08 0.08
50cm 0.08 0.08
809 | FEHHET #HEAR |8ReE 9A30H
1m 0.07 0.07
50cm 0.07 0.08
810 | FEHEET #HEAR |FELR 9A30H
1m 0.07 0.07
50cm 0.07
811 EmEEm HEAR |HHLE 9A30H F12EIETEEICKYRERT]
1m 0.08
50cm 0.09 0.09
812 EmEEm #HEAR |LowUaE 9A30H
1m 0.09 0.09
50cm 0.08 0.08
813 EmEEm #HEAR |/MIcE 10A5H
1im 0.07 0.08
50cm 0.09 0.09
814 | FEHEET HERAR |LK2EAE 10A4H
1m 0.08 0.09
50cm 0.08 .
815 EmEEm #HEAR |4FHEELRE 10848 F12EIETEEICKYRERT]
1m 0.08
50cm 0.07 .
816 EmEEm HEAR |FHEPRAE 10848 F12EIETEEICKYRERT]
1m 0.08
50cm 0.07 0.07
817 mMRET HERAR |SRLE 10A4H
1m 0.07 0.07
50cm 0.07 0.08
818 | EAEE™ #HEAR |4FEAELE 10848
1m 0.07 0.07
50cm 0.08 0.08
819 EmEEm #HERAR |THRE2E 10848
1m 0.08 0.08
50cm 0.07 0.07
820 | FAEET HEAR |dET2E 10A5H
1m 0.07 0.07
50cm 0.10 0.10
821 EmEEm #HRAR |ER2E 10848
1m 0.11 0.11
50cm 0.07 0.07
822 EmEEm #HEAR |BERAE 10A5H
1m 0.07 0.07
50cm 0.10 0.10
823 EmEEm #HERAR |ERE#FPRAE 9H29H
1m 0.11 0.10
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BEREREMSRE=SJJVHAEEHHLAEEE 130 ER
($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BESS | ZHBRERAEE (1 Sv/h)
. NEE

No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) Jre.

fm 5E %12

FEER RERR

50cm 0.10 0.10
824 | EHEET #HRAR |EREMAEAR 9R29H

1m 0.10 0.10

50cm 0.10 0.10
825 EEEm #HRXAR |EREHERAR 9H29H

1m 0.10 0.10

50cm 0.06 0.06
826 EmEEm #HXAE |HOHLR 9A30H

1m 0.06 0.06

50cm 0.09 0.09|me TEZH(ICLYLHhE DT
827 | mHEEm | HRAE |AZ2EAE 10850 BIZERTEFE) Gt

1m 0.09 0.09

50cm 0.09 .
828 | EAtEET™ #HEXLER |[ETALR 10A5H F12EETEEICKYRERT]

1m 0.09

50cm 0.09 0.09
829 EmEEm #HERAR |RAHcaE 9A30H

1m 0.09 0.09

50cm 0.08 0.08
830 | FEHHET #HEXLAR (Vv /RIAE 9H28H

1m 0.07 0.08

50cm 0.06 0.06
831 EmEEm #HEAR |HPHELE 9H28H

1m 0.06 0.06

50cm 0.07 0.07
832 EmEEN #HXAR [[B/RAE 9H28H

1m 0.08 0.08

50cm 0.17 0.17
833 EmEEm #HEAR |BAE 9A30A

1m 0.16 0.16

50cm 0.11 0.11
834 | FEHHET #HEAR |AE152E 10A5H

1m 0.12 0.12

50cm 0.29 0.29
835 | FEHEET EBRAR |ARAR 10848

1m 0.28 0.28

50cm 0.09 0.08
836 | FEHHET EBAR |ROFLE 1084AR

1m 0.08 0.08

50cm 0.15 0.15
837 EEEm EBEAR [KENWILORBEAER | 10548

1m 0.14 0.14

50cm 0.08 0.08
838 | FEHEET EBAR DO OHAE 9A30H

1m 0.09 0.09

50cm 0.25 0.31
839 EmEEm EBEAR  |FRIIKEKLAE 9H28H

1m 0.24 0.30
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RERRERFHFE=SITRAE @ HAESEE 130 HR

($M3FE9A21A~10A128EH)

RF A SEEI et FAAR (BR5THRIE)
EERKEREXRE (RFHID)

BESS | ZHRERAEE (1 Sv/h)
. NE S
No. |  hETH K4 NEEZH BE | soom | (hs-aBOFiE) Jre.
m S0 %120
FEER REMER
50cm 0.18 0.18
840 | TFHHEET EBAR (FENITTYEKIAE | 98308
1m 0.18 0.18
50cm 0.10 0.10
841 EmEEm EBEAR |[BRTFLUAE 9H28H
1m 0.10 0.10
50cm 0.09 0.09 .
842 | TEHEET RELE |tREBEREAERE 9A30H hAIEES
1m 0.09 0.09
50cm 0.16 0.16
843 | TFEHEET BERAR |[RATELE 9A30H
1m 0.15 0.15
50cm 0.10 0.10
844 | TEHHET 2B e 4 s 4 BRI b 9H29H
1m 0.10 0.10
50cm 0.10 0.1
ZHIRS
1m 0.10 0.11
50cm 0.12 0.13
845 | TFEHEET LEAR |RrEoE 1084AR FEIZ 4 L5
1m 0.12 0.12
50cm 0.11 0.13
EHIZ ELS
1m 0.13 0.13
50cm 0.13 0.13
846 EmEEm #HEAR |EEoE 9H29H
1m 0.13 0.13

X E12EMEHRIEE. FA2F10A28,M510A23BICKELMBEERBRERFRE=SI O JTHE@HHLAEEE12E) IITE T 2RAEHR
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